Pa = r—=) — 4 —— A, i
HHA0EE O & 1T = = 5] 7 KR AR 2023/4/3
4 A 5 A 6 B T 8 = 9 B 10 =] 17 )= 12 1 2 )= 3 B
EESEETD . ‘ 4 5 DRE
1|+ 1|74 5 DEE 1| 4| BERS (T - 84, B | )4 1] % 1|2 st 18 1| % | 2R e 1E 1| 5|78 1|74 5 BiEg | 2|®sEEERsR
' ®OsERJ/\N—TIU
" ~ - 4 5 DRE -
L/ L 17 o A/
2|8 2/ X GBIV AR ER 2| % 2|8 2[ %K 2|t 2| B 2 N @aEE ) N—H L 2|+ 2| K 2| % 2|t
3| B 3| Kk |BEEc=E 3|t 3| B BN EE 3| A& 318 3| N|KRPT x XHIBM[E SEApEd0l= 3|8 3| 2k 3| 3B
?ﬁ@%ﬁﬁﬁ&é'\ ) 45 aEe IEERRIRS
\)/ 3 \|/ 3 = ENTR 3 /73 2 = A mBEr
4| K L RN eSl0)= 418 41K 2PN EED 4 & 4B ggzz# (1+ 28 45K 41t 4 B|OZ8= 4 R|{LBI8D 48 4 B et
5| 7k A ek s1)]= 5| 3|4 b DB 5| K |BF B EN 5|+ 5| W 5| K| 4 b DI 5|8 5| W 5| % 5|B|OZ8= (8iR) 5| N |®O®ZF TV
ERTH 8:30 B 4 5 DR B o
6| A |FMESR 6|t 6| N IBZFIR1TERIIEE 6| A 6|8 6| 7k 6| |4 5 DIZE 6| 3|6 IFREIEE 6| 7K |5 BFREIEZEE 6|t 6| W 6| K |ZRZETN
ANF AR N ESE
) _ 46D iE 4 5 DEE 4 5D -
& | AFBEN 718 T X (BZHRIT UE=S 718 BN == BN /_\ueﬂi TR |4 RREEE (35) 718 K7 R ~EE T K| 4 FERE
oleR =BBWNE (3HF) BB
F1QP T ABEEER:00RE A\ 3 4 5 DRE A\ 473
== 45]3}5% AT M R = NV, PN N = 46]:]?&"% -~ 57 3
8| % O T AEE 0 s0n 8| B REEONE 8| R EZHRIT 8| 8| W = 8| B 8| 7K 8| & éggig%ii 8| B 8| &~ SR SEARASIEESE S
o e PTABRES(FSR ) 4 5D 4B D1E%
= o w [CBEI18:30 (1~ 3 %) o| g |BFIRT = o| x |IFZINBLARE (~1 5| o 4 |BIEPTAREZRER0RE | ol 5|2 x—weg o| & |72 FiERS o + o| w|m s o| = |mEtEs o| +|PTAr R B EEE R0 02 B
RIEBEDOUE ORBLZEZHZE (15) B) = A Oiiias
% 2 @PTAZE210:30 R 18X el 2=
AE BE13: ~ 4 6 DI 4 5 DES 1R £ 6 APTARIEEER9: 005
105 [P B EAE (2T 10|k [EMEE 30 (1~3H) o)+ 10| 8|lezES 10| A 108 0| % [LESER (LEEDR | 10| [BEER 108 10| K|ENT R b (1 - 260) 10|+ |== 10 8
fEVEDTHER RIRE =) GRUBRR (2 5) OF3FS % 3 OPTAZE=10:00R0EE
E%Eﬁgﬁfﬂ%@% MDD 3 B 4 6D B i B
MK oamae (155 MR |OEER 11| 8 K| 4 BRI 11| & 11| B|4 5 DR%E 11|k | 4 6 DIBE 11| £ IS EES 11| K| 4 5 DEE 11| B |@BE=0n8 11| 8|4 5 DS
C@OSIFBE (3L - 1) =BENE —mspma
LkS2 - : 45D A 4 5 DRE
12(K|ZDT A 12| & R (S - #h) 13:25 12| B 12| K| 4 SRS 12( % 12| N |Z WG 12[| R 4 5 DE=F . 12(8 12N | 4 5EIB%E 12|%& 12| B [IREB A8 12| W
~ RIS @@7(513717\9/-%{1% = =W
—%%\DWE —%%EDWZ:\
46D BEE 460158
13| K |©m kS8R 18| & 13| K 13| K 4@2&%% 13| 8 13| K B|E|RKPTTRY 13| 8|4 b DERE 13| K 18| & 13| K gﬂémgﬁ 13| %
=BENE =%
~5 ﬁ%—ﬁgﬁ‘ull SESIEES T 2 MER] 450155
42 S5 - v - | 4[5 x| SDER AT, Rk 14|83 14| % |OERRRERE 14|t 14| X | g 220 5 14| 148 14|k |5 4 DEMST 2 b 14| % | O ERREEE
PTAIRS M=V ARE (BEW)
/ Vg S\ 457, = =W |/ S 4 5 ﬁ?&% = =< [==] — =
16| 15| B |®EER= 16| K| 4 b DIRE HEBMN 16| 16| W 16| & 15| 8 15| 7K £ 16| & 15| B 15| K|E 4 OEHT X 16| &
16| 8 16| X |RRHEEZ2 (2 48) 13:26~ 16|E|4 6 DRE HBEBH 16| 8 16| 7k 16| & 16|B|OFE= 16| KB 3IE@EET 2 b 16| £ 16| W 16|EF (B 4DEET2 b 16| &
1T B|®OZEE= 1TK|EDFT A (35) 17| 17 B0 B 17| 1718 17| K| @)W SR E 51145 1T|E|E3OQTEERT b 17(8 1T K|IZERAR (1. 25) 17| 178
N eI NS o 4 5 DE = e =20.002
18| W E(gjj%:?;b@)ﬂﬁ 18| K [BRIE2 (351 ~64#7) 9:00 18| 8 18| W 18| & 18| B |#HZNDHB 18| 2K 18| & %ﬁ@PTA%Eﬁ’E\Eg'OOE 18| 8|4 b DigE 18| K 18| 8 18| B
~ B R HRESEY B=
~ |4 DDEE == N o ss iz LN ZE (W\BEDR " = - g "
19| 7k 19| | gR1USZS (1 ) 13:25~ 9 B|OFER 19| K [IERIKS 19| £ 19| X |2 REh ™ IR 2 ZEg 19|18 19| X | b BRI 19| F 19|B|4 b DEE 19| K
20( 4 (LR (T, 02 a0+ 20| W |4 6 BEE WEB 20| | #2538 20| 8 20| 2k 20| & |O@ERHBE 20| 8|2 3 @EHT 2 k 20| 7k 20| + 20| X 20| X |BBNDE
21| (DT (1 ~35F) 2118 21| KB 1 @EET X b 21| & 21| B|E=mEmE 21| K7~ 2 AR 21| = 21| N | 4 SRS 21| KBRS 2118 217K | 4 b5REIIB 2 21| KB BRIRT
22| = 22|BIOEE= 22| K|SB1EEET 2 ~ 22| & 22| W 2| & 22| 8 22| 0K | 4 BFREIBZE 22| & [IRET 22| B 22| K| 4 05122 22|15
23| B8 23| N |4 b DIZEE 23| & (%1}@7\&5}%%7\ ~ 23| B8 23| 7K 23| (R E 23| B |4 b DIgE RIENEIESRE D]= 23| 23| W, 23| & | REMEB 23| &
4 4 5 DEE E 2 QPTAREZER9:00& |4 D DEE -
24| B4 b DB 24| 7K REEONTED 24| + == 24| B 24| R 24| B 24| W 2 I8 RER 24| & 24| B 24| 7K 24| + 24| B
s — 4 5D s -~ 4 5D
2B\ XN EDT R bFiRB 2| | ok B =itk i 25| 8 25| K 25| & 25| B 25| 7k 25|t 25| B 25| K 25| 8 25| B
26| 7K %gﬂ%ﬁ%)ﬁﬁ%@ﬁ 26| £ |ABR 26| B4 b DIBE 26| 7K 26| = 26| W 26| K| 4 b DIBE 26| B 26| W 26| & 26| B4 b Dig 26| W
27| K 27| £ 2T\ W | 4 ISR 27| R 27| B8 27| 7K 27| £ |4 D DIBE 27|34 b DB 27| 2k 27| & PN 27| 7K
28| & 28|83 28| K| 4 BFREIZEE 28| & 28| B 28| K|S 2 OFEERT X b 28| 28| W 28| N EM 28| B 28| K 28| A
29| £ (BF D B 29|B|4 b DiZE 29| R 29| 29| W 9|EF|(E2O0EBRFTH 29| B 29| 7k 29| & 29|84 b DIgE 29| R 29| &
30| B8 | N |FBEFHE 30| & | ERNFII8E 30(8 30| 2K 30|+ PB|IEDFTAH (35F) 30| A& 30( 30| W 30| +
31| K 31 8 31| AR 31| W |4 DD 318 31| 7K 318




